D=3 x16° cm

2 KW

—

TRE

H ﬂ.\\/Mw“&)n\m”

redivs 't [ = UMW
Meoon
Svrbe 0 10.¢ Xig T em
= 33600 =
—, lO~l¢c m
~ Y000 WS_.
Divmerer ~ §p00 K
Yo" Kw _ Uy (gl &
Crm cm
ITBJ N, - U:. aleg
o~ ><<
2 n
X = - 2vmm —
.Tn:w\( }sm_w%xsxhni B %Wu/~ Cm
2X)0"! can
. M\J.
.m,..).\/.\o..( = FH“.\“..')’ L N\l\lmr_‘\fm.M&:\.” Q._K~O“w)
gxlo!

~ m. n\ﬁ \\:,\h.m



G
See  above !

[n

Cin 5

o/xs\,
&.KGJ
X1

~5b
3em< | <~
* Cm

Pl
3.(,_/3? 0h

S
rn Qam%orp.m




2

W\.M.

0 ctave !




function data=diffraction2(aperture)

Y%aperture is an array of lengths, in the format

Y%[transparent1 opaquel transparent2 opaque?2 transparent3....]

Y%example input:

Y%aperture=1e-3; %single-slit, width 10 microns

Y%aperture=[1e-3 2e-3 1e-3]; %double slit, each 10 microns, with 20 microns opaque
Y%between them (30 micron spacing)

Y%aperture=[1e-3 2e-3 1e-3 2e-3 1e-3]);% three-slit diffraction

for ii=1:length(aperture)
aa(ii)=sum(aperture(1:ii));
end

lambda=6.33e-5;

D=100;
k=2"pi/lambda;
xs=-20:0.1:20;
li=1;
for x=xs
E=0;
for y=0:lambda/2:sum(aperture)
if ceil(min(find(sign(y-aa)-1))/2)~=min(find(sign(y-aa)-1))/2
d=sqrt(D"2+(x-y)"2);
E=E+e/\(i*k*d);
end
end
[(il)=abs(E)"2;
ii=ii+1;
end
plot(xs,I)
data=[xs' I'];
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